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Review Test 401 
1.  Determine if (5,1) is a solution to the system 
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   Show all work to get your answer and explain why or why not. 

Yes        or        No

Solve by graphing.  Show LOTS of points … not just a line!
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4.   Solve the system 
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5.   Solve the system    
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solution _____________

6. The Bowie baseball team is selling hats as a fundraiser.  They contacted two companies to make the hats.  Hats Off charges a $5.00 design fee plus $5.00 per hat.  The other company, Top Stuff has a design fee that is $3.00 less than Hats Off but charges $1.00 more for each hat.  

a)  For how many hats is the cost the same?

b)  The baseball team plans on selling nine hats; which company would be less expensive for nine?
7.  Which graph below best represents this system: 
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  Explain how you picked your answer.  ________________________________________________________________      
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B.
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Based on the graph of the following systems, determine the NUMBER of solutions.

8. # of solutions___________   9. # of solutions__________  10.  # of solutions___________



For 11 – 12, a) define two variables, b) set up a system of two equations and c) solve the system d) state your answer in the context of the problem!

11.  Your parents give you $75 a month and an extra $5 for every chore you do.  Sam’s parents give her $115 a month total.  How many chores would you have to do to make the same amount as Sam in one week? 

12.  The Chess club is selling short sleeved t-shirts and long sleeved t-shirts.  They sold a total of 85 shirts and made $770.  If short sleeved shirts cost $8 and long sleeved shirts cost $10, how many of each kind of shirt did they sell?

13.  Manny and Sharon went to the bakery.  Manny bought 7 brownies and 1 cookie for a total of     $5.50.  Sharon bought 4 brownies and 5 cookies for a total of $7.50.  Write a system of equations that could be used to determine the cost of 1 brownie, x, and 1 cookie, y?  DO NOT SOLVE THE SYSTEM YOU SET UP, JUST SET UP.
14.  AT&T U-verse charges an installation fee of $150 and a monthly cost of $10 per month for its services.  TimeWarner Cable charges an installation fee of $20 and $20 per month for its cable services.  The tables below model this information for each company based on the above information.  

a) For how many months would the charges be the same with either cable company? 

b) What would be the charges when they are the same?

c)  Which company would be the least expensive for 9 months?






TIME WARNER CABLE TABLE 

	Months (x)
	Charges (y)

	3
	80

	8
	180

	11
	240

	13
	280

	19
	400







AT&T U-VERSE CABLE TABLE
	Months (x)
	Charges (y)

	3
	180

	7
	220

	8
	230

	9
	240

	13
	280


ANSWER BANK….Use each answer exactly one time. 








	13 months 
	(0, -2)
	(5, 4)
	yes
	Three hats
	
	7x + y = 5.50

    4x + 5y = 7.50
	B.  

	Time Warner Cable
	No solutions
	8 chores
	Infinitely many solutions
	Hats off
	(7,9)
	One solution

	Infinite
	$280
	They sold 45 long sleeved shirt and 40 short sleeved shirts
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